
1

Installation Guide

Compact 2-Post Rack
Models: SR2POST12HD, SR2POST16HD

(Series Number: AG-053A)

1111 W. 35th Street, Chicago, IL 60609 USA • tripplite.com/support

Copyright © 2020 Tripp Lite. All rights reserved.

WARRANTY REGISTRATION
Register your product today and be  
automatically entered to win an ISOBAR®  
surge protector in our monthly drawing!

tripplite.com/warranty

Español 7 • Français 13



2

Base, x1 Left Upright 
Bracket, x1

Right Upright 
Bracket, x1

Support Bar, x1 M5 x 12 mm 
Screws, x16

Rubber Feet, x4

Parts List

Important Safety Instructions

Assembly

1 	Screw the four rubber feet into the corners on the underside of the base.

SAVE THESE INSTRUCTIONS
•	Maximum load rating: 350 lb.

•	Always install heavier equipment in the lower part of the rack

• 	Installation is to be performed only by qualified service personnel

Securement Bracket, 
x2



3

Assembly

2 	Attach the right upright bracket to the base using four of the M5 screws.

3 	Attach the left upright bracket to the base using four of the M5 screws.



4

Assembly

5 	Attach the support bar to the uprights using four of the M5 screws.

4 	Attach the securement brackets to the front and back of the rack using the provided M6 screws.



5

Enclosure Installation

Caution! Read All Instructions and Warnings Before Installation!

WARNING: Until the rack enclosure has been properly installed and stabilized, the enclosure is prone to  
tipping and could cause property damage and/or personal injury.  Do not attempt to install equipment  

without first stabilizing the enclosure.

• Installation is to be performed only by qualified service personnel.

•	Install the enclosure in a structurally sound area with a level floor that is able to bear the weight of the enclosure, all 
equipment that will be installed in the enclosure and any other enclosures and/or equipment that will be installed nearby.

• Install the cabinet securely to the building structure with user-supplied anchors and both the front and rear securement 
brackets provided, as in the following diagram.

•	Be sure to select proper anchors for securement to the building, according to your installation.

		  Front Securement	 Rear Securement



6

Add Accessories

Mount standard 19” rack equipment and accessories such as PDUs and cable managers (sold separately).

Tripp Lite has a policy of continuous improvement. Specifications are subject to change without notice.  
Photos and illustrations may differ slightly from actual products.

1111 W. 35th Street, Chicago, IL 60609 USA • tripplite.com/support
20-12-102  93-3CAA_RevB



7

Guía de Instalación

Rack Compacto de 2 Postes
Modelos: SR2POST12HD, SR2POST16HD

(Número de Serie: AG-053A)

1111 W. 35th Street, Chicago, IL 60609 USA • tripplite.com/support

Copyright © 2020 Tripp Lite. Todos los derechos reservados.

English 1 • Français 13



8

Lista de Partes

Ensamble

1 	Atornille las cuatro patas de caucho en las esquinas en la parte inferior de la base.

Base, x1 Soporte Vertical 
Izquierdo, x1

Soporte Vertical 
Derecho, x1

Barra de Soporte, 
x1

Tornillos  
M5 x 12 mm, x16

Patas de Caucho, 
x4

Instrucciones Importantes de Seguridad

CONSERVE ESTAS INSTRUCCIONES
• Capacidad máxima de carga: 159 kg [350 lb]

• Instale siempre el equipo más pesado en la parte inferior del rack

•	La instalación debe llevarla a cabo únicamente personal de servicio calificado

Soporte de Seguridad, 
x2



9

Ensamble

2 	Coloque el soporte vertical derecho en la base usando cuatro de los tornillos M5.

3 	Coloque el soporte vertical izquierdo en la base usando cuatro de los tornillos M5.



10

Ensamble

5 	Fije la barra de soporte a los postes usando cuatro de los tornillos M5.

4 	Fije los soportes de fijación al frente y atrás del rack usando los tornillos M6 suministrados.



11

Instalación del Gabinete

¡Precaución! ¡Lea todas las instrucciones y las advertencias  
antes de realizar la instalación!

ADVERTENCIA: Hasta que el gabinete de rack haya sido correctamente instalado y estabilizado, el gabinete es  
propenso a vuelcos y podría causar daños a la propiedad o lesiones personales. No intente instalar equipo sin  

estabilizar primero el gabinete.

• 	La instalación debe llevarla a cabo únicamente personal de servicio calificado.

•	Instale el gabinete en un área estructuralmente firme con un piso nivelado, que puedan soportar el peso del gabinete, de 
todo el equipo instalado en el gabinete y de otros gabinetes o equipos que se instalarán cerca.

• 	Instale firmemente el gabinete a la estructura del edificio con los anclajes suministrados por el usuario y los soportes de 
seguridad frontales y posteriores suministrados, como en el siguiente diagrama.

• 	Asegúrese de seleccionar los anclajes adecuados para asegurar al edificio, de acuerdo con su instalación.

		  Seguridad Frontal	 Seguridad Posterior



12

Tripp Lite tiene una política de mejora continua. Las especificaciones están sujetas a cambio sin previo aviso.  
Las fotografías e ilustraciones pueden diferir ligeramente de los productos reales.

1111 W. 35th Street, Chicago, IL 60609, EE UU • tripplite.com/support
20-12-102  93-3CAA_RevB

Agregar Accesorios

Instale equipos y accesorios para rack estándar de 19” como PDUs y administradores de cables (vendidos por separado).



13

Guide d'installation

Bâti à 2 montants compact
Modèles : SR2POST12HD, SR2POST16HD

(Numéro de série : AG-053A)

1111 W. 35th Street, Chicago, IL 60609 USA • tripplite.com/support

Droits d'auteur © 2020 Tripp Lite. Tous droits réservés.

English 1 • Español 7



14

Assemblage

1 	Visser les pieds en caoutchouc dans les coins en dessous de la base. 

Base, x1 Support vertical 
gauche, x1

Support vertical 
droit, x1

Barre de support, 
x1

Vis M5 x 12 mm, 
x16

Pieds en 
caoutchouc, x4

Liste des pièces

Consignes de sécurité importantes

CONSERVER CES INSTRUCTIONS
• Charge nominale maximum : 158,8 kg (350 lb)

• Toujours installer l’équipement le plus lourd dans la partie inférieure du bâti.

•	L’installation doit être confiée uniquement à du personnel d’entretien qualifié.

Support de fixation, 
x2



15

Assemblage

2 	Fixer le support vertical droit à la base en utilisant quatre des vis M5.

3 	Fixer le support vertical gauche à la base en utilisant quatre des vis M5.



16

Assemblage

4 	Fixer les supports de fixation à l’avant et à l’arrière du bâti en utilisant les vis M6 fournies.

5 	Fixer la barre de support aux supports verticaux en utilisant quatre des vis M5.



17

Installation du boîtier

Mise en garde! Lire toutes les instructions et les  
avertissements avant de procéder à l’installation!

AVERTISSEMENT : Avant que le boîtier pour bâti ne soit correctement installé et stabilisé, le boîtier est sujet  
à basculer et pourrait causer des dommages graves à la propriété ou des blessures. Ne pas tenter d’installer  

l’équipement sans d’abord stabiliser le boîtier.

• L’installation doit être confiée uniquement à du personnel d’entretien qualifié.

•	Installer le boîtier dans un endroit solidement construit capable de supporter la charge, ou sur un plancher au niveau 
capable de supporter le poids du boîtier, de tout l’équipement qui sera installé dans le boîtier et de tout autre boîtier ou 
équipement qui sera installé à proximité.

•	Installer l’armoire de façon sécuritaire à la structure du bâtiment en utilisant des ancrages fournis par l’utilisation et les 
supports de fixation avant et arrière fournis, conformément au schéma suivant.

•	S’assurer de sélectionner les ancrages appropriés pour la fixation au bâtiment, selon l’installation.

		  Fixation avant	 Fixation arrière



18

Ajouter des accessoires

Monter l’équipement du bâti de 48,3 cm (19 po) et des accessoires comme des PDU et des gestionnaires de câbles (vendus 
séparément).



19



20

La politique de Tripp Lite en est une d'amélioration continue. Les caractéristiques techniques sont modifiables sans préavis.  
Les produits réels peuvent différer légèrement des photos et des illustrations.

1111 W. 35th Street, Chicago, IL 60609 USA • tripplite.com/support
20-12-102  93-3CAA_RevB


